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6SDTL5 6SDTL8 6SDTL10 6SDTL12 4SDK (L) 3
R ' 7 v A 430001~ | #20001~ | £20001~ | #20001~
x5y RFEEERT BRAWB (i) B B’ # B:S # fi&
EPPZ NN 5
NATA RV mint 2800 2670 2670 2670 3210
=74 RY 7 min® | 1000~1100 | 980~1050 | 980~1050 | 980~1050 | 1075~1125
(& #1K 8D (C) (70~90) (70~90) (70~90) (70~90) (80=)
(fE B ¥ iR) (C) (50-15) (50+5) (50+5) (50%5) (60=)
- i - S
WEHF A mn | 0.15~0.18 | 0.18~0.22 | 0. 18~0.22 | 0. 18~0. 22 | 0. 15~0. 25
e PR A% mm 0.15~0.18 | 0. 18~0.22 | 0. 18~0.22 | 0. 18~0. 22 | 0. 15~0. 25
B E & 1) (FRERF) (HRERE) (#HErE) (FHERF) (FfERF)
v EMEES X T MPa 3.7~4.1 | 3.2~3.7 | 3.2~3.7 | 3.2~3.7 | 2.45~3.34
KIEGREMRES 2= kgf/cm? | 38~42 33~38 33~38 33~38 25~34
v (& = KR (C) (70~90) (70~90) (70~90) (70~90) (75~85)
(A i # B (min®) | (¥ 250) (%9 250) (#49 250) (#9 250) (%5 250)
ok 3 B Ao MPa |13.7~14.7 | 13.7~14.7 | 13.7~14.7 | 13.7~14.7 | 11.8~12. 8
JREPEUN BRAAIE S kgf/cm? | 140~150 | 140~150 | 140~150 | 140~150 | 120~130
moE i E| Ty BV EDRD mm 7 7 7 7 7~10
[ > o #] 68N (7kg) 68N (7kg) 68N (7kg) 68N(7kg) | 98N(10kg)
HAYERE|7ay Mg — MPa | 0.32~0.34% | 0.19~0.21 | 0.21~0.23 | 0.21~0. 23 | 0.33~0.35
kgf/cm? | 3.2~3.4%1 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3 | 3.4~3.6
# U4 —v MPa | 0.32~0.34 | 0.19~0.21 | 0.21~0.23 | 0. 21~0. 23 | 0. 33~0. 35
7 kgf/cof | 3.2~3.4 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3 | 3.4~3.6
g | A —T Y | Tur bRy — Nem | 167~196 | 275~313 | 275~313 | 275~313 | 118~147
& ;éﬁg’:}t kefom | 17~20 28~32 28~32 28~32 12~15
» V¥R 4 — N-m | 167~196 | 275~313 | 275~313 | 275~313 | 118~147
kgl+m 17~20 28~32 28~32 28~32 12~15
w| N v K v | EEFROES m - - - - -
W7 —rrai| my s * - - - - -
P i
| ST ATT VU7 ME MPa 16.7 17.2 17.2 17.2 -
Vv SR kgf/cn? 170 175 175 175 -
EITT L —F | RE OB mn - - - - 25~35
BA%3% 1 1% =B ew | rsm | 1nsE | 175 -
& i mm
@ NHLEE mn - - - - 155
£ HIBhEES mEN 5 5 5 5 5
& [l Bh 7 ] (km/h) (15) (15) (15) (15) ()]
BEB T L — % [FILAIREAE )4 15 15< 15 15< 15
[AfFRER] (] [fes] [fE] [Kj=p:a [FEH)
19—

4SDK(L)4 | B5SDK(L)5 | BSDK(L)6 | B5SDK(L)7 | B5SDK(L)8 | 5SDK(L)10
E3 #H *® # &
3210 2600 2600 2600 2600 2400
1075~1125 | 1250~1350 | 1250~1350 | 726~775 | 725~775 | 725~825
(80=) (80=) (80=) (80=) (80=) (80=)
(60=) (60=) (60<) (60=) (60=) (60=)
0.15~0.25 | 0.15~0. 25 | 0. 15~0. 25 | 0. 15~0. 25 | 0. 15~0.25 | 0. 15~0. 25
0.15~0.25 | 0. 15~0. 25 | 0.15~0. 25 | 0. 31~0. 41 | 0.31~0.41 | 0. 31~0. 41
(¥rRERs) (FrREmE) (B1ENE) (RIERY) (IR REME) (R
2.45~3.34 | 2.65~3.53 | 2.656~3.53 | 2.6~3.3 | 2.6~3.3 | 3.5~3.9
25~34 27~36 27~36 | 26.5~32.4 | 26.5~32.4 | 35.7~39.8
(75~85) (75~85) (75~85) (75~85) (75~85) (75~85)
(#9 250) (# 250) (%9 250) (%3 260) (# 260) (9 260)
11.8~12.8 | 19.6~20.6 | 19.6~20.6 | 11.3~12.3 | 11.3~12.3 | 11.3~12.3
120~130 | 200~210 | 200~210 | 116~125 | 115~125  115~125
7~10 7~10 7~10 8~13 8~13 8~13
98N (10kg) | 98N(10kg) | 98N(10kg) = 98N(10kg) | 98N(10kg) | 98N(10kg)
0.33~0.35 | 0.25~0.27 | 0.21~0. 23 | 0. 21~0.23 | 0.21~0.23 | 0.32~0. 34
3.4~3.6 | 2.5~2.7 | 2.1~2.3 | 2.1~2.3  2.1~2.3 | 3.2~3.4
0.33~0.35 | 0.25~0.27 | 0.21~0. 23 | 0. 21~0. 23 | 0. 21~0. 23 | 0.32~0. 34
3.4~3.6 | 2.5~2.7 | 2.1~2.3 | 2.1~2.3 | 2.1~2.3 | 3.2~3.4
118~147 | 118~147 | 118~147 | 118~147 | 118~147 | 118~147
12~15 12~15 12~15 12~15 12~15 12~15
118~147 | 118~147 | 118~147 | 118~147 | 118~147 | 118~147
12~15 12~15 12~15 12~15 12~15 12~15
25~35 — — — —
155 - — - —
5 5 5 5 5 5
9) (11) an (12) (12) an
15= 15< 15< 15< 5= 15<
[Ff] [F5] 5 [##%] [ ] (=]

— 13—
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. B 6SDTL5 6SDTL8 6SDTL10 6SDTL12 | 4SDK(L)3
# O 7OV A& 30001~ | #20001~ | #2000~ | #20001~
5| HREEH WEEE (%) BT % &= E % &
KSLETFA=r s mn - - - - -
TEM
KT ADORE mm - — - -
FZ A
Elrpox - —
s | 1T (=) FTAZVITDES mm - - - -
7 \
v Ny s Fl— M | Nem - - - -
B i rv2 kg'm
* ) FA4ARYDES mm | 3.25~3.35|3.75~3.95 | 3.75~3.95 3.75~3.95 —
g | TART (ZyrvarTi—1)
PG
‘ GEst) |ty NOES mm — — — - 5.5~6
&
g LT, | Fsesa=y - - - . - -
T msyy |
S| oaak) | TER
L=
1121024 |~y voms mo BT V— | BT V- | R L— | £ V= | BT -
x| gEst) Bl 35 LR 3l X & A ¥ & F X &3
YU UHDO|VT RIS mn/10min 20> 20> 20> 20> 50>
BT & [y b~0AT g (4] [4%) [E:3) (4] 7]
[fF B i B] (C) (50=+5) (50%5) (50+5) (50%5) (50+5)
fE FRTY m/l0min| 20> 20> 20> 20> 20>
N7y b~ [ 4] ki3 [ %] (48] [4#&] %]
. [{E & #h IR] (°C) (50+5) (50+5) (50£5) (50+5) (50£5)
* EEBEE VT Y F BT sec 3.4~4.4 | 4.5~5.5  5.3~6.3 | 5.3~6.3  4.7~57
[Ny b ~OFTT] gyl [4#] (4] B3 [4#] [A]
. [fF B 1 B (C) (50+5) (50=5) (50=x5) (50£5) (50=5)
a<
FN b U UE—HL sec 0.5~1.1 1.9~2.3 | 2.2~2.8 | 2.2~2.8 | 3.1~3.9
NroMEL | 37y b ~OAT] (A (4] [4%] (4] (4] [A]
= [fE & E] (C) (50+5) (50+5) (50%5) (50+5) (50=£5)
F) b U D sec 0.5~1.1 | 2.1~2.5 | 2.1~2.7 | 2.1~2.7 | 2.2~2.6
Ny E D37y b oA [F 1wl [1%] [4] [4#] [#&] A1
[YE & # 1E (°C) (50=5) (50=5) (50+5) (50%5) (50£5)
whOE E OB Y D —TER MPa 17.2 17.2 18.6 18.6 13.7
i kgf/cn? 175 175 190 190 140
E{ ETVI—TEN MPa 29.6 36.8 41.2 11.2 19.1
& kegf/cn” 300 375 420 420 195
[ & i iE) (0 50+5 (50£5) (50x5) (50=5) (50=5)

o

A

H§#& 30041~ 0. 32~0. 34Mpa (3. 2~3. 4kgf/cm?)

1 : 6SDTLS @ & A ¥Z24&JE © HE3% 30001~30040 724k, 0.21~0. 23Mpa (2. 1~2. 3kgf/cm?),

4SDK(L)4 | 5SDK(L)5 | 5SDK(L)6 | 5SDK(L)7 | 5SDK(L)8 | 5SDK(L)10
1% *H * e &
5.5~6 — - — -
ETTL— — - - — -
X LA
50> 45> 45> 45> 45> 45>
(] [#] [#] [H] [#7 [H]
(50+5) (50%5) (50£5) (50%5) (50+£5) (50=+5)
20> 40> 40> 40> 40> 40>
(%1 [#1] [F] [A] [A] [&]
(50+5) (50%5) (50+5) (50+5) (50+5) (50+5)
4.7~5.7 | 3.6~4.4 | 3.6~4.4 | 3.6~4.4 | 3.6~4.4 | 3.6~4.4
(7] (7] [A] [#] [#] &)
(50+5) (50+5) (50+5) (50+5) (50£5) (50%5)
3.1~3.9 | 2.2~2.6 | 2.2~2.6 | 2.2~2.6 | 2.2~2.6 | 2.2~2.6
[#] [#] [A] [#] [F] [H]
(50£5) (50£5) (50-5) (50-L5) (50+5) (50=£5)
2.2~2.6 | L5~1.9 | 1.7~2.1 | 1.7~2.1 | 1.7~2.1 | 1..7~2.1
[A] (A1 [F] [#] [#F] [F]
(50£5) (50+5) (50+5) (50£5) (50+5) (50+5)
13.7 15.7 14.7 16.7 16.7 18.6
140 160 150 170 170 190
19.1 21 21 21 25 30
195 214 214 214 255 306
(50+5) (50£5) (50-£5) (50£5) (50£5) (50%5)
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